L 1-4 16 SPA @ 5'-0" = 80-0 144

7, 1-10 2'-7 103  3-2% 103 1 3-2 11 103  3-2% 1034 3-2 11
11
, 5% | -VERIFY 5% | - VERIFY
1
8 TYP > 8
Al o Al Al &l & Al o Al A Al Al Al Al A Al A 53 30181 ’ JosT
T ! ! ! u H ! u ! ! ! ! ! ! ! ! = — +380™-5% 28LH13 28LH13
o N N N i u N i N N N N N N N N A
B I I I I | I I I I I I I I I I o v ] - I
IBE y y y y : y y y y y y y y y y b -] - - - - -~ T
B I I I ® I | I I 3 I I I I I I I X I o
C I I I *? I I I - I I I I I I I > I I -
! I © © |
IR I I I I : I I I I I I I I I I Ny N W
B I I I I | I I I I I I I I I I T
IRL I It —h I | I I I I I I I I I I I C8X11.5
\ j — | N - [
I I I I ) I === "'l I I I (R— I e I o I
\ = I 2 2 \
B I I ‘ I 4 I | I I I I I oYy I I I I Y o
L I [l —{ I | I I = I I I I I I I 5 I . LOX4X1p X 0-4
B I I I I | I I & I I I I I I I Py I I
L I I I I | I I I I I I I I I I o
I I I I I I————— I I I I I I ——— I I
| I I I I : I I I I I I I I I I 1N
\ I RF6 N |
B I I I I | I RFé) I iﬁ I I I I I I I I .
B I I I I | I I © I I I I I I I I o
I I I I I I )l I I I I I I I I I
| I h IE —N It —N | — A - A
B I I I I | I I I I I il I I i il o —
I I I I I I I ~ I I I I I I I I I _ (TYP ALL ROOF FRAMES U.N.)
\ I R o ~ \
B I I I I | I I ) I I I N I I I I ) o
B I I I I | I I I I I I I I I I o - +380-53 VERIFY
B I I I I | I i I I I, L I I Iy L ||
I I I I I \ [ I I I T I I I T I -
\ I \
B I I I I | Ll 30 1! I I I I I I I I o < y
U I I I I | A 1 I I I I I I I I o - 4 L —
B I I I I | I I I I I I I I I I o
B I I I I | I I I I I I I I I I o -
B I I I I | I I I I I I I I I I o
B I I I I | I I I I I I I I I I o -
" " " " " " 11 3-2 11 11 32 11
B 113, 26 1-3| I I ‘ 5-0 I 2-10% | 2-11 | I I | [ I I " i o 3 EPOXY_ANC (16" 0.C)
‘ I I I I I | I I I I I I I I I I I | — BY INSTALLER / SEE PLAN
0ol ] ] I I H ] ] I I ] ] I I ] ] (= + o
IBL ] ] I I 4 7615 | ] I I ] ] I I ] ] o o o
IBL ] ] I I ] ] ] I I ] ] I I ] ] I )
I ] ] I I ] ] ] I I ] ] I I ] ] I - :
\ | \ g
IBL it —AH I I ] ] ] I I ] ] I I ] ] I 4
I ] ] I I ] ] ] I I ] ] I I ] ] I - ® S—
| o | <
I ] ] S I I ] ] ] I I ] ] I I ] ] I o
\ ™ ) — 0
IBL ] ] I I ] ] ] I I ] ] I I ] ] A 3 c-C
IBL A — I I ] ] ] I I ] ] I I ] ] o
IBL ] ] I I ] 1 ] I I ] ] I I ] ] I
B I REIE || I I i N I I I I I I I I o
IBL ] ] I I ] ] ] I I [ — Ll I I It _ Ll I
IBL ] ] I I ] ] ] I I ] | I I ] | oy
IBL ] ] I I ] ] ] o I I ] ] o I I ] 1 o o (2) AB1 ~ ROD3s X 1*-1 1346 ( +/-)
IBL ] ] I I ] ] ] S I I ] ] ™ I I | Ll . (PER SPEC. / BY INSTALLER)
IBL ] ] I I ] ] ] © I I ] ] I I ] ] I 4 | 4
| | | ll ll | | | ll ll i i ll oA T i Al 1] w7 SRR ER
\ ! \
B I I I I I I | I I I I RFS] ] I I ] ] .
1N I I I I L | L e e 1 I I I I I I I I o
I ] ] I I ] ] ] I I ] ] I I ] ] I _
\ \
IBL ] ] @ I I \ ] RE4 ] I I ] ] I I ] ] I @ pd
o ~ o
IBL ] ] % I I ] ] ] I I ] ] I I ] ] o - 3 1 ‘
IBL ] ] I I ] ] ] I I ] ] I I ] ] I ‘
I ] ] I I ] ] ] I I ] ] I I ] ] I -
\ \ I
IBL ] ] I I ] ] ] I I ] ] S I I ] AR I ~| |
N . .
IBL ] ] I I ] ] ] = I I ] ] y I I ] 1y oy - &
IBL ] ] I I ] ] ] - I I ] ] I I ] ] I
7] ] ] I I ] ] ] - I I ] ] I I ] ] oy -
IBL i i i i i i o
IBL ] ] I I ] ] ] I I ] ] I I ] ] oy -
IBL ] ] I I ] ] ] I I ] ] I I ] ] I
Ik A A A A A A ||
IBL ] ] I I ] ] ] I I ] ] I I ] ] I
| oH H H o H H H = o o H H o o H H cH|l ||~ C .
i i i i i i i o)
b [h [h b 8 [h [H [h b s s Fagith s A s ST o |t 2
u u u
u u u
u u u
u u u
u u u © E
u u u - D-D
u u u
u u u
u u u
u u u - —
u u B3] wi2x40 u .
u u u
u u u .
u u \\ +379-4
B25
u u u { N N
& B | I : ‘
@ 2l g \r 2%
l %
o o
S B IS IS D \ D
x N N =
& 1N Iy 5 \
2 NE HE o L
! ! ! O < =t = +378-4188 ﬁ% ‘lﬂlq
N N | | — &L - Jj‘\‘: - R R R P
“73 Eﬁ ﬁ; E‘” ﬁ; Eﬂ ‘ ‘ @
iy ity Tty ] : X E
I
5 Lj \JJ
12'-07k 11-1158 3-41
B
<4— 35-8
PLAN AT EL. +379'-4
E
B-B
E-E
STEELASTM  A992 UNO PROJECT NAMELITITZ W W T P
DATE | NO. DESCRIPTION By | FHECTROPES E7OXxLH UNO ['(ocaTioN A SP Services Inc
S200 | /A For Approva ol weos | U4BUTTFILLET o WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
6/04/09 For Approval TMAC| open oLes 13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
100200 | e~ For Approval AG PLEASANT MOUNT WELDING, INC. oRTE oo
— BOLTS 3/4"% A325-N-ST UNO DESCRIPTION 05/12/2009 17-052-9
10/16/09 A For Fabrication - Customer Changes MT ARCHITECT DRAWN BY DRG No.
10/20/09 | /2\ | For Fabrication - Corrected RF Marks MT | PAINT PER SPECS U ENTECH ENGINEERING, CENTRIFUGE & BIOSOLIDS DRYER BLDG. STR. TMAC E3-1




LOX4X1 x
1

4 SHOP OPTION

1

SUBSTITUTE BT PLATE

4 RF1
4 RF2
2 RF3
4 RF4
20 RF5
8 RF6
2 RF7
Qty. In Assembly
44 a2l LOX4X1/2 0-4" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIFTION M oar0s | 70529
ARCHITECT ANG LE DRAWN BY DRG No.

ENTECH ENGINEERING, INC.

TMAC a2l




5 <
— SN <t
o 8-11% & ST 8-111) ®
13160
16 W\
™|
@
™
W12X40 x 18'-4
2 B2
Qty. In Assembly
2 B2 W12X40 18'-4" A992
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZ WW.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
ARCHITECTPLEASANT MOUNT WELDING, INC. EéEECZ',F\’;ON 022000 | 17-052-9
ENTECH ENGINEERING, INC. " TMAC Y




18'-4

1 B25
Qty. In Assembly
1 B25 W12X40 18-4" A992
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc

LOCATION

WARWICK TWP.-LANCASTER CO., PA

CUSTOMER

PLEASANT MOUNT WELDING, INC.

Selinsgrove, PA 17870

(570) 374-5333 FAX (570) 374-5335 aspservicesinc.co

ARCHITECT

ENTECH ENGINEERING, INC.

DESCRIPTION

BEAM

DATE

10/02/2009

JOB No.

17-052-9

DRAWN BY

TMAC

DRG No.
B25




C8X11.5 x 3-2%

4 RF6
Qty. In Assembly
4 c2 C8X11.5 3-21/2" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL aOASR008 06
ENTECH ENGINEERING, INC. TMAC c2




C8X11.5x4'-1

1 RF1
1 RF2
1 RF4
5 RF5
2 RF6
Qty. In Assembly
10 c3 C8X11.5 41" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL e
ENTECH ENGINEERING, INC. TMAC c3




C8X11.5x 3"-2

10 RF5
Qty. In Assembly
10 c4 C8X11.5 3-2" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL e
ENTECH ENGINEERING, INC. TMAC c4




C8X11.5 x 6-01h

1 RF4
Qty. In Assembly
1 c5 C8X11.5 6-01/2" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL AOASR008 06
ENTECH ENGINEERING, INC. TMAC c5




C8X11.5x3-0

2 RF1
Qty. In Assembly
2 c6 C8X11.5 3-0" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL AOASR008 06
ENTECH ENGINEERING, INC. TMAC c6




C8X11.5x1'-10

1 RF2
Qty. In Assembly
1 c7 C8X11.5 1-10" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL e
ENTECH ENGINEERING, INC. TMAC c7




3 =
T F === === ==
SEF ; g:‘% %
S =
T 'k
TYP TYP
C8X11.5x1'-10
1 RF2
Qty. In Assembly
1 c8 C8X11.5 110" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARGHITET CHANNEL e
ENTECH ENGINEERING, INC. TMAC c8




C8X11.5x4'-1

1 RF1
Qty. In Assembly
1 RF1 C8X11.5 41" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL e
ENTECH ENGINEERING, INC. TMAC RF1




‘ ® | < =
e T ~
\ \ S
\ \
\ \
! ! a2l
a2l \ \
Q | *’T<TYP - TOP & BOT.
) | 36 I |
\ \
a2l : ‘ a2l
TYP !
\ She \
A e £
N 1 — L (e3) mr a
| | ¥z
9l 2'-6
Q 91p 3-31 4'-1
a2l oj: a2l
A B 3
3 < w N
N I l I
\\ I I [
w = I P R ~ |
(c6) (c6)
A-A b ﬂ B-B
a2l + < a2l
4-9
10/2/09 | /c\ | R &R For Approval TMAG
BILL OF MATERIAL 10-19-09 A CORRECTED CHANNEL pc MARKS TO ¢ TMc
10/16/09 A For Fabrication - Customer Changes MT
Qty |Qty | Piece g Weight Adv Steel .
Ea.|Tot | Mark Descrlptlon Length Total Remarks Mill # Grade PROJECT NAME DATE NO DESCRIPTION BY
1| RF1 | ROOF FRAME STEELASTM  A992 uno LITITZ W.W.T.P. .
i1 CBX11.5 T 47 02 736 ELECTRODES E70xx LH UNO [ 5CATION A S P SerV|CeS InC
' WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
4| 4| a2l L9X4X1/2 0'-4" 28 A36 13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
1 3 | cax1is 41" a7 A3 OPENHOLES PLEASANT MOUNT WELDING, INC. DATE 0B No.
¢ i ) BOLTS 3/4"@ A325-N-ST UNO [ ARcHITECT DESCRIPTION 10/02/2009 17-052-9
2| 2| 6 | C8X1L5 3-0" 69 A36 [ pant PER SPECS o ENTECH ENGINEERING, INC. ROOF FRAME ASSEMBLY "% |7 RF1




C8X11.5x4-1

1 RF2
Qty. In Assembly
1 RF2 C8X11.5 41" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL e
ENTECH ENGINEERING, INC. TMAC RF2




a2l a2l
NOTCH TOP & BOT.

FLANGES, TYP

3 3
‘ RF2 ‘ a j:ﬁl/ Ifl::
| v | SE I
************ BB Al e F S 5
\ \ /) g
| ﬁ<TYP - TOP & BOT.
he | TOP VIEW ~ c8
o | |
- | |
=
~ ! ‘
i TYP \
e |
! \
1 Ce3) plp” Iy
\ \
a2l 211 1'-10 a2l
|RD 211 3-1115 111%
P
_C7_ <
N @ a2l a2l
(a21 ) A E N ] B 2
N [0}
N ™
= 3. b A ® ; Gl
—/ -/ | E— 1
I ' p f f a ¥
| (- ! [ I I
\\ I~ ! | N h
N I _ | ] | |
(e7) (c3) (c8)
NOTCH/COPE ENDS TO FIT ANGLE
A-A A B
a2l = <H
a2l a2l
B-B
4'-9
BILL OF MATERIAL 10/2/09 ﬁ R & R For Approval TMAC
: : 10-19-09 CORRECTED CHANNEL pc MARKS TO ¢ TMc
Qty |Qty | Piece o Weight Adv Steel
Ea.|Tot| Mark Description Length Total Remarks Mill# |  Grade 10/16/09 | /o\ | For Fabrication - Customer Changes MT
1| RF2 | ROOF FRAME DATE NO. DESCRIPTION BY
 aw STEELASTM  A992 UNO PROJECT NAME
1 1 C8X11.5 4'-1 47| Q2 A36 LITITZ WW.T.P. .
4 4] a2l | LOX4X1/2 0-4" 28 pgp | ornones ETDoH O f ocation AS P Services Inc
WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1] 1 c3 C8X11.5 4-1" 47 A36 oPEN HOLES  13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
. PLEASANT MOUNT WELDING, INC. DATE 0B No.
1| 1, c7 C8X11.5 1-10 21 A36 BOLTS 3/4"G A325-N-ST UNO [crree DESCRIPTION 10/02/2009 17-052-9
1| 1| 8 | C8Xil5 1-10" 21 A36 [ pant PER SPECS o ENTECH ENGINEERING, INC. ROOF FRAME ASSEMBLY """ |7 RF2




C8X11.5x4-1

1 RF3
Qty. In Assembly
1 RF3 C8X11.5 41" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL e
ENTECH ENGINEERING, INC. TMAC RF3




a2l a2l
> . v ] \ Sz
55
TYP - TOR & BOT.
3h6 1
e TYP
RD 4'-1
= —_—=
=
g : b a2l
A B o
&
|
/R R o .
T‘ E = == = = /== = = = = = %
\‘\ S
N I
5 N | :\
ffffffffffffff ‘
A-p (a2l '
= <H
4-9
NOTE: FRAME IS IDENTICAL TO RF7 EXCEPT FOR PC. MARK
ONE _ ROOF FRAME _ RF3 10/2/09 A R & R For Approval TMAC
10-19-09 A CORRECTED CHANNEL pc MARKS TO ¢ TMc
10/16/09 A For Fabrication - Customer Changes MT
DATE NO. DESCRIPTION BY
BILL OF MATERIAL STEELASTM  A992 UNo | PROJECT NAME
LITITZW.W.T.P. .
Qty | Qty | Piece Description Length Weight Remarks Adv Steel ELECTRODES E70xx LH UNO '/ ocATION A S P SerVICeS InC
Ea.|Tot | Mark p 9 Total Mill # Grade WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1| RF3 ROOF FRAME 13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
T OPENHOLES PLEASANT MOUNT WELDING, INC. DATE JOB No.
1] 1 C8X11.5 4-1 47| SQ-2 A36 BOLTS 3/4"G A325-N-ST UNO [crree DESCRIPTION 10/02/2009 17-052-9
2| 2| a2l | L9X4X1/2 0-4" 14 A36 [ pant PER SPECS o ENTECH ENGINEERING, INC. ROOF FRAME ASSEMBLY """ |7 RE3




C8X11.5x4-1

1 RF4
Qty. In Assembly
1 RF4 C8X11.5 41" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL e
ENTECH ENGINEERING, INC. TMAC RF4




‘ ® | «< £
—————————— —_— ~
0
‘ N~
\
\
a21 | W<TYP -TOP & BOT a2l
\
3 \
] \
© \
a2l \ a2l
@ | gy < TYP
\
\
\,ffffffffﬁfff@ﬁ) 777777777 \
\ \
1'-8 2'-5
4'-1
a2l
a2l ‘ﬁr
A o
[ee]
it
= = - m
” M == = = = = = = = == = = = = = = = = = = 4
.\l I
I I
N I e —
(c5)
A-A b
a2l +
4-9
10/2/09 | /c\ | R &R For Approval TMAG
BILL OF MATERIAL 10-19-09 A CORRECTED CHANNEL pc MARKS TO ¢ TMc
10/16/09 A For Fabrication - Customer Changes MT
t Piece ot Weight Adv Steel
Q| Qty Piece Description Length Tl Remarks il | Crege — _ DATE | NO. DESCRIPTION BY
1| RF4 | ROOF FRAME STEELASTM  A992 uno LITITZ W.W.T.P. .
1 1 CBX11.5 T 47 02 736 ELECTRODES E70xx LH UNO [ 5CATION A S P SerV|CeS InC
' WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
4| 4| a2l L9X4X1/2 0'-4" 28 A36 oPEN HOLES  13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
01 3 | Caxilis P 47 736 PLEASANT MOUNT WELDING, INC. DATE 0B No.
¢ i ) BOLTS 3/4"@ A325-N-ST UNO [ ARcHITECT DESCRIPTION 10/02/2009 17-052-9
1| 1| ¢ | C8X115 6'-0 1/2" 69 A36 [ pant PER SPECS o ENTECH ENGINEERING, INC. ROOF FRAME ASSEMBLY/|>™" e |°°™ RF4




C8X11.5x4-1

5 RF5
Qty. In Assembly
5 RF5 C8X11.5 41" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL AOASR008 e
ENTECH ENGINEERING, INC. TMAC RF5




\ \ o
| S N Al
0
\ \ ™~
\ \
a2l \ \ a2l
\ TW<TYP - TOP & BOT.
‘ he . |
o | f
™ \ <r‘
\ o
\ \ a2l
@ | TYP |
\ %he \
/ o]
N 47 S c3) | [ a
\ \ < F
a2l 3'-2
RD
515 3-71 | 51h
a2l ﬁ' a2l a2l
A B o
[0}
ikt
3 m N
M 4 f *\ 4 4
N I N I N I
I I ! [ I I
N | ! | | [
(c4) (c4)
A-A b ﬂ B-B
a2l = <
4-9
10/2/09 | /c\ | R &R For Approval TMAG
BILL OF MATERIAL 10-19-09 A CORRECTED CHANNEL pc MARKS TO ¢ TMc
10/16/09 A For Fabrication - Customer Changes MT
t Piece inti Weight Adv Steel DATE | NO. DESCRIPTION BY
(Igay 'IQ(t))t/ Mark Description Length Total Remarks Mill # Grade PROJECT NAME
5| RF5 | ROOF FRAMES STEELASTM  A992 uno LITITZ W.W.T.P. .
5| 5 CBX11.5 T Y, 736 ELECTRODES E70xx LH UNO [ 5CATION A S P SerV|CeS InC
: ) Q WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
41 20| a21 L9X4X1/2 0'-4" 142 A36 oPEN HOLES  13/16" UNG | CONTRACTOR PLEASANT MOUNT WELDING. INC (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
qn y . JOB No.
1| 5| «¢3 C8X11.5 4-1 234 A36 BOLTS 3/4"G A325-N-ST UNO [crree DESCRIPTION DAII(E)/OZ/ZOOQ *17-052-9
2| 10| ¢4 | C8X115 3-2" 363 A36 [ pant PER SPECS o ENTECH ENGINEERING, INC. ROOF FRAME ASSEMBLY """ |7 RF5




C8X11.5x4-1

2 RF6
Qty. In Assembly
2 RF6 C8X11.5 41" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL e
ENTECH ENGINEERING, INC. TMAC RF6




‘ ® «< £
0
\ \ ~
\ \
o7 \ \
a
\ [
TW<TYP -TOP & BOT. a21
N ‘ he | |
= | |
a | |
| @
| TYP |
N 3/16
ol | |
\ \
\
V/ ,,,,,,,,, (e3) I | _
\
a2l
a21
51, 3-215 51
=
a2l ‘[’o a2l
A B 2
a
= - w RN
M 4 f *\ N 4
N I N I N I
I I ! [ I I
N | ! | \ 3 [
(ec2) \% (c2)
A-A b ﬂ B-B
a2l + <H a2l
4-9
10/2/09 | /c\ | R &R For Approval TMAC
10-19-09 | /2| CORRECTED CHANNEL pc MARKS TO ¢ TMc
BILL OF MATERIAL
10/16/09 A For Fabrication - Customer Changes MT
Qty |Qty | Piece g Weight Adv Steel .
Ea. | Tot Mark Descrlptlon Length Total Remarks Mill # Grade PROJECT NAME DATE NO DESCRIPTION BY
2| RF6 | ROOF FRAMES STEELASTM  A992 uno LITITZW.W.T.P .
o 2 CBX11.5 T 04| 502 736 ELECTRODES E70xx LH UNO [ 5CATION A S P SerV|CeS InC
‘ WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
4| 8| a2l | LOX4X1/2 0-4" 57 A36 e oLee 13/16" o | CONTRACTOR (570) 374-5333  FAX (570) 374-5335 aspservicesinc.com
. ; PLEASANT MOUNT WELDING, INC. .
2| 4| c2 | C8X115 3-21/2 147 A6 [ D ASZONST v o DESCRIPTION 0022000 12" 17-052-9
1| 2| ¢ | C8XiLs5 4-1" 94 A36 [ pant PER SPECS o ENTECH ENGINEERING, INC. ROOF FRAME ASSEMBLY """ ¥ |%*°™ RF6




C8X11.5x4-1

1 RF7
Qty. In Assembly
1 RF7 C8X11.5 41" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL R
ENTECH ENGINEERING, INC. TMAC RF7




a2l a2l
4 (RF7 ‘
I SR | ~ ,%
TYP - TOP & BOT. RD A
36 |
o TYP
a21 a21 -
& a2l
A B %
#NJ o o o m :NJ
T i s
! i
N I
. === === = - I
A-A -B
A B
e <H
a2l
4'-9
ONE - ROOF FRAME - RF7
DATE | NO.] DESCRIPTION BY
BILL OF MATERIAL STEELASTM  A992 uNo | PROJECT NAME LITITZW.W.T.P
Qty | Qty | Piece Description Length Weight Remarks Adv Steel ELECTRODES E70xx LH UNO '/ ocATION A S P SerVICeS InC
Ea. | Tot | Mark Total Mil# | Grade | . 1apUTTRILLET  wo WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1| RF7 | ROOF FRAME oren LS 13116" no | CONTRACTOR (570) 374-5333  FAX (570) 374-5335  aspservicesinc.com
PLEASANT MOUNT WELDING, INC. o.
1] 1 C8X11.5 4-1" 47| $Q2 A6 [ O 5 u G, INC DESCRIPTION M 0022000 P N17-052-9
2| 2| a2l | LOX4X1/2 0-4" 14 A6 | pan PER SPECS uno ENTECH ENGINEERING, INC. ROOF FRAME ASSEMBLY "4, PReN RET




\
C — — — — — — — \
| \ -
3
| | s
EXISTING BEAM ' | N
| j
S 0
*fr B1] wex15 |
| \
| | 3 i
\ | 3 g ~
| | “
| \
;| [B1lwex1s
o )
o o
g | % \ =
gt | = o
I | N
::z:::::,:zzz:,::z:::::::ZZ:,::z::,:::,::Z::,,—{%;::,:::,:EJE:::::;::::,:zzz:,::z:::::::ZZ}::::::::::ZZ%
2-4%
EXISTING BEAM
21016
%ﬁ
PLAN AT EL. +373'-4 (+)
7-1
*
211 ‘ 2-10% ‘ 2'-1%
55/8 | 2'-41/2 |
*
B T T =
x ERa Eeas Ex,
SE e
- WEX15 (TYP SHOP BOLTED
TYP 4 PLC'S
— —— — ——
3 SIDES, TYP
s
X FIELD MEASURMENTS 10-9-09
A-A
STEEL ASTM  A992 UNO PROJECT NAME
LITITZ W.W.T.P. .
ELECTRODES E70xx LH UNO [ [ ocATION A SP SerV|CeS InC
5/12/09 | /A\ | For Approval TMAC| open HoLes 13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
6/04/09 For Approval TMAC PLEASANT MOUNT WELDING, INC. N DATE BN o 0Eo g
10/15/09 | /c\ | R &R For Approval TMAC| BOMTS 340 AS25-N-ST  UNO ['areniTect DRASVE’@?ZOOQ TR
10/30/09 | /0\ | For Fabrication w/ Approver Comments MT | PAINT PER SPECS UNO ENTECH ENGINEERING, AEROBIC DIGESTER TANK/BLDG TMAC E4-1




11,

11,

A
/ (1316x1") SLOTS

:

215 A
L4X4X5he x 21h
A-A

4 B4

4 B5
Qty. In Assembly
8 al3 LAX4X5/16 0-21/2" \ A36

Qty. Mark Size Length Comments Grade
PROJECT NAME .

LITITZ W.W.T.P. A S P Services Inc
LOCATION .

WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
____PLEASANT MOUNT WELDING, INC. AIS\ICGLE e oaoos | i7.052.9

ENTECH ENGINEERING, INC. " TMAC T a3




250
|

<
11, 11,
L4X3-1bX3jg x 21H
8 B1
Qty. In Assembly
8 a3 L4X3-1/2X3/8 0-21/2" \ A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .

LITITZ W.W.T.P. A S P Services Inc
LOCATION .

WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
____PLEASANT MOUNT WELDING, INC. AIS\ICGLE e amos | i7.052.9

ENTECH ENGINEERING, INC. "IMAC T a3




23

23
I

ThRD 2-93)
=
Bheg — —13h60
GOL 258 27k (a3 (BIS) ) 27l /' GOL 25
51, CIC TYP EA. END , 5lpcic
\ /
\ ® /

AN
~
27y 3hsl” \&J ~

2'-10Y (W6X15 x 2'-91))

2 - BEAMS - Bl

10/15/09 | /c\.| R & R For Approval TMAC
10/30/09 | /o | For Fabrication w/ Approver Comments MT
DATE NO. DESCRIPTION BY
STEEL ASTM  A992 UNO PROJECT NAME
BILL OF MATERIAL LITITZ W.W.T.P. .
Qly Q| Piece Description Length Weight Remarks Ady [ Steel | ELECTRODES ETDX(LE 0 | ocaTion AS P Services Inc
Ea. | Tot | Mark Total Mil# | Grade |\iog  14BUTTFILLET  uvo WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
2 B1 BEAMS oPEN HOLES 13/16" UNG | CONTRACTOR PLEASANT MOUNT WELDING. ING (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
' " y . DATE JOB No.
2| 2 W6X15 2'-91/4 84| SQ-2 A992 BOLTS 3/4°% A325-N-ST UNO | arariTEcT DESCRIPTION 10/15/2009 17-052-9
4] 8| a3 | L4X3-1/2X3/8 0-2 1/2" 15 A36 PAINT PER SPECS UNO ENTECH ENGINEERING, INC. BEAM RS e |7 Bl




27k 27k
ll L =
HJ\ [ ] Hj
27k 27k
W6X15 x 2'-91
2 Bl
‘ Qty. In Assembly
2 Bl W6X15 2-91/4" ‘ A992
Qty. Mark Size Length Comments ‘ Grade
PROJECT NAME .
LITITZ W.W.T.P. A S P Services Inc
LOCATION

WARWICK TWP.-LANCASTER CO., PA

CUSTOMER

PLEASANT MOUNT WELDING, INC.

Selinsgrove, PA 17870
(570) 374-5333 FAX (570) 374-5335 aspservicesinc.co

DESCRIPTION

ARCHITECT

ENTECH ENGINEERING, INC.

BEAM

DATE

10/14/2009

JOB No.

17-052-9

DRAWN BY

TMAC

DRG No.

Bl




21hp

al3
GOL 2% I
1346 x 1" SLOT

11 1Yy
f
23 23
. N
N I ) /=
= i ¢ ¢ o 5
al3 (B/S) a13 (BS)

| RD

12 1-9114g | 5 4'-83%¢g | 5% 6'-93%

2| 6'-93%

(-5h6) 7'-03g (W6X15 x 6'-113) (-5h6)
10/15/09 | /c\.| R & R For Approval TMAC
10/30/09 | /o | For Fabrication w/ Approver Comments MT
BILL OF MATERIAL DATE | NO. DESCRIPTION BY
Qty [Qty | Piece D inti Lenath Weight R K Adv Steel STEELASTM  A992 UNo | PROJECTNANE LITITZW.W.T.P
Ea.|Tot | Mark escription eng Total emarks Mill # Grade e A S P S 1 I
1 ma BEAM ELECTRODES E70xx LH UNO [ ocaTioN . ervices inc
WELDS 1/4 BUTT/EILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1/ 1 W6X15 6'-11 3/8" 105| SQ-2 A992 oPEN HOLES 13/16" UNG | CONTRACTOR PLEASANT MOUNT WELDING. INC (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
' " y . DATE JOB No.

4| 4] al3 | L4X4X5/16 0-21/2 7 A36 BOLTS 3/4°% A325-N-ST UNO [mgrrece DESCRIPTION 10/14/2009 *17-052-9
2| 2 3/4"@ A325N BOLT 0-2" 1 PAINT PER SPECS UNO ENTECH ENGINEERING, INC. BEAM DR e 1P B4




W6X15 x 6'-1138

23, 23,
N N ™
= ° Q\ ® \ 3
13460 13460
© [{e] ©
| RD o) & @ pur > =
& 1-71%e & 5% 2'-5 % 5hin 1-71%e | B
o B4
Qty. In Assembly
1 B4 W6X15 6-11 3/8" A992
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
DESCRIPTION DATE JOB No.
___ PLEASANT MOUNT WELDING, INC. iy 1412008 70509
ENTECH ENGINEERING, INC. " IMAC AV




al3

GOL 21
1346 x 1" SLOT

215

o, S i - =5 11, 11
i - = L
23 al13 (B/S) 23
SHOP BOLTED
TYP EA. END
Ty [
™ ™
I1® + @j‘u =X
- al13 (B/S)
©
© = 5
9 - o
RP > N ) in )
12 - 5% x| 5% ©
(-%h6) 7'-038 (W6X15 x 6'-113) (-516)
10/15/09 | /c\ | R & R For Approval TMAG
10/30/09 | /o™ | For Fabrication w/ Approver Comments MT
BILL OF MATERIAL DATE | NO. DESCRIPTION BY
Qty [Qty | Piece D inti Lenath Weight R K Adv Steel STEELASTM  A992 UNo | PROJECTNANE LITITZW.W.T.P
Ea.|Tot | Mark escripuon eng Total emarks Mill # Grade e A S P S H |
1 Bs BEAM ELECTRODES E70xx LH UNO [ ocaTioN . ervices inc
WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1] 1 W6X15 6'-11 3/8" 105| SQ-2 A992 oPEN HOLES 13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
, . PLEASANT MOUNT WELDING, INC. DATE J0B No.
4| 4] al3 | L4X4X5/16 0-21/2 7 A36 BOLTS 3/4°% A325-N-ST UNO [mgrrece DESCRIPTION 10/14/2009 17-052-9
2| 2 3/4"@ A325N BOLT 0-2" 1 PAINT PER SPECS UNO ENTECH ENGINEERING, INC. BEAM e i =T




W6X15 x 6'-1134
23, 23,
™
- 1 1 -
— —
L13/16® L13/16@ L13/1(3@ L13/16@
13160 N 13460
© [{)
=S 3 3 5 o &
— o o - o) —
e N @ - b
ol & 1-71% G| 5lh 2'-5 ¥ 5% in 1-71e o B
o B5
Qty. In Assembly
1 B5S W6X15 6-113/8" [ A
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZ W.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
DESCRIPTION DATE JOB No.
— PLEASANT MOUNT WELDING, INC. BEAN 11/03/2009 17-052-9
ENTECH ENGINEERING, INC. " IMAC Y Bs




N
IN
~N
~N
- ~N N ~ ~
- ~N ~
- ~ _',L
7 S i
2'-5 16'-0 Phd X
e »;
~ ~ ~ N / \
10™-43) 7 N R g \
\
253 2-101 2'-2%6
~N
l 1043,
fffffffffffff B 4 Sl
N
GIRT LINE 7-43 20 1-0 RN
7
-
o MC6X12 ~ C5 A
m[, _ =% , I s e e el e = 14 G - \
| - Sl - - L _ _ _ L _ ___ I IS —————————.,
o L i i T i i |
| = il = B |
¢_ | | wsx31-~B7 \ \ I ‘
Zt ‘ |« | < | < I MC6X12 ~ C17 H H |
COLUMNS A 1 ¢ 1 1K A e — 5 SN R—
| ™ ™ ™ ; hi | 71 joo = == = |
| |9 |9 |9 &, ® O i o
|3 |8 |3 | 5 I '8 |
| | e | © ] 8 l S K l ‘
| = | '8 I | |
¢ | | ! | ia TYP > = % - |
\ i i i i ! ” _—ALIGN NEW CHANNELS TO | 'Q ” - ‘
EXIST. H o] | EXISTING ROOF MEMBERS | | |
COLUMN | | ] | | | - LOCATIONS TO BE | l |
\ \ A \ DETERMINED IN FIELD - ‘
| | ‘ I | | FL3g"X3 I N
~N
\ ! \ H ! ! H O !
‘ 4 Sl
| | | B ————— T RN
| | | g — === - AR
\ \ \ 1T ) ) T ) a ) ) P ~
! ! B \ I ‘ ‘ ‘ ‘ u -
\ \ \ I -
[ ‘ ‘ P
\ \ | I | : | : | -
U U I
1
PLAN AT EL. +354'-10-1/4 (+/-)
3D VIEW
REMOVE (2) BOLTS FROM EXISTING COLUMN CAP PLATE 3-9
CUT BACK EXIST. BEAM TO CENTER OF COLUMN
MATCH LOCATE & FIELD DRILL & BOLT OR OPTIONALLY
D 2.0 1-0 D FIELD WELD & TOUCH UP COLD GALVANIZE -
Va
- - EXISTING BEAM
E I MCex12~cC17 1 W8X18
- = - = :j =
1 25 % 5
f / =__ T W8X18 ~ B6 I
I MC6X12 ~ C8 MCEX12 ~ C8 | MCBX12~C19 | I |
[ \ | | -MC6X12 ~ C15 I
o TYP 1 I
[ \ | H & i i
[ \ | [ “ I
[ \ | [ 1=
[ & I H I
H | mMcex12~ci8 | | I
[ \ | [ © I
[ \ | [ S I
MC6X12 ~ C16 ~ ‘
[ \ | [ 2 I
[ \ | [ - . - /
! e oS R ~E-E ey -
- === === === = = == = L — VIEW ~E-E " moexiz o 1
| MC6X12 ~ C7 il
[ [
[ [
[ [ = =N
H I © o <
EXISTING COLUMN % - S
u u ® / S
<
ll ll E 5 E
I I \ +354'-10Y
l l ! +5)
u u ® \ Y
] — ' 2 EXIST. COLUMN
I u oA = = < L o L J
- MCéX12~C6_ _ [, & v o | Mcexi2-c11 | I |
v il ~ ¢ It = =
‘ I
[ [ v v g
[ [ 5 <
| | (4) 34 DIA.
SS ANCHORS PER SPEC.
[ H BY INSTALLER )
[ I < ) S <
[ 1S < N
I ] +354'-10Y;  +) \
| [ 5 +354'-10Yy GIRT LINE
[ +354"93/4 (+/_)
[ 12 _ +354-9%
|| W8x31~B7 | DETAIL B MC6X12 ~ C9 il
I - Y = L - — — — — — | L 1
N MCéx12~C5_ _ T4 TYPICAL EACH END ‘ H ‘ =N = = = = <
— — ) 5] y SIMILAR AT C6X13 FLOOR BEAMS ‘ ‘ © I I @
—- H-— S e =] —
Hﬁ ﬁ z% jgé@ e C6X13~C4 m ol
el
w| S
< &
C6X13 ~C4 C6X13 ~C4 C6X13 ~C4 C6X13~C4 . » . z <
Tl
8lo
= [T
DET.B z o
pz4
25 7-113) 3
16'-0
SECTION ~B-B
PROJECT NAME
STEEL ASTM  A992 UNO LITITZ W.W.T.P. .
ELECTRODES E70xx LH UNO [1oeATIoN A SP SerV|CeS InC
DATE NO. DESCRIPTION BY WELDS 1/4 BUTT/FILLET UNO WARWICK TWP'LANCASTER CO, PA SellnSgrOVE, PA 17870 ) )
5/12/09 /A\| For Approval TMAC| open hoLes 13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
o ioal08 For Avprova v PLEASANT MOUNT WELDING, INC. I oATE o8 T
10/22/09 /2| For Approval TMAC| BOLTS 3/4"@ A325-N-ST UNO [ ARCHITECT 05/11/2009 17-052-9
DRAWN BY DRG No.
10/30/09 | /o\ | For Fabrication w/ Approver Comments MT | PAINT PER SPECS UNO ENTECH ENGINEERING, HEADWORKS INFLUENT SCREEN-STRUCTURAL MODS  TMAC ° El-1




11,

1Yy

A
/ (13h6x13h6) SLOTS

] <« B ¥~ (1316x1%6) SLOTS
21 A
A-A
L4X4X5he x 21k
(—
4 C4
Qty. In Assembly
4 alo LAX4X5/16 0-21/2" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIFTION M oaoos | 70529
ARCHITECT ANG LE DRAWN BY DRG No.
ENTECH ENGINEERING, INC. TMAC alo




21,

— (13h6x11546) SLOTS

2 2
L4X4X5%6 x 4
I
1 c5
1 C6
1 c7
Qty. In Assembly
3 al4 L4X4X5/16 0-4" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIFTION M oaoos | 70529
ARCHITECT ANG LE DRAWN BY DRG No.
ENTECH ENGINEERING, INC. ald




B! ‘~ (13h6x11546) SLOTS
A-A
A
2 2
L4X4X5%6 x 4
f— A
2 C14
Qty. In Assembly
2 als LAX4X5/16 0-4" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIFTION M oaoos | 70529
ARCHITECT ANG LE DRAWN BY DRG No.
ENTECH ENGINEERING, INC. TMAC als




B! ‘~ (13h6x11546) SLOTS
A-A
A
2 2
L4X4X5%6 x 4
f— A
1 C14
Qty. In Assembly
1 alé LAX4X5/16 0-4" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIFTION M oaoos | 70529
ARCHITECT ANG LE DRAWN BY DRG No.
ENTECH ENGINEERING, INC. TMAC alé




A E ~ (1346x11546) SLOTS GOL 24 GA 15 (F/S)
N =
F
N
/ 2 HOLES
@
A-A 2 2
L6X4X5h6 x 4
I
1 ci14
Qty. In Assembly
1 al6 L6X4X5/16 0-4" \ A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
___ LMTZW.W.T.P. A S P Services Inc
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
— PLEASANT MOUNT WELDING, INC. ,DA\EIS\]C(F;IPI_TEN " 1032000 | 17-052-9
ENTECH ENGINEERING, INC. " TMAC Tt ate




(11546x1346) SLOTS 2

i ffffff
3 3
L4X4X5he x 6
1 C9
1 C14
Qty. In Assembly
2 a4 LAX4X5/16 0-6" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIFTION e oa0s | 70529
ARCHITECT ANG LE DRAWN BY DRG No.
ENTECH ENGINEERING, INC. TMAC ad




2%
>

\ (1316x11546) SLOTS

E——
' ¢
A

11, 3 1
A-A L4X4X5h6 x 51b
2 B7
Qty. In Assembly
2 a5 L4X4X5/16 0-51/2" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIFTION e oa0s | 70529
ARCHITECT ANG LE DRAWN BY DRG No.
ENTECH ENGINEERING, INC. a5




11, 3 11
21p A
(1346x11546) SLOTS
A-A
A
L4X4X5h6 x 51b
(I
2 B7
Qty. In Assembly
2 a6 L4X4X5/16 0-51/2" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION o oaro0s | 170520
ARCHITECT ANG LE DRAWN BY DRG No.
ENTECH ENGINEERING, INC. a6




11, 11,

e

21hH
© T s 3
(1346x1346) SLOTS 7 S ( (Fhex1de) SLOTS
A-A
A
L4X4X5% g x 21k
4 c4
Qty. In Assembly
4 a7 LAXAX5/16 0-21/2" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .

LITITZ WW.T.P. A S P Services Inc
LOCATION .

WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
ARCHITECTPLEASANT MOUNT WELDING, INC. DAEIilchEEN DAToEe/os/zoog JOB“°17_052_9

ENTECH ENGINEERING, INC. e Y




?:r ffffff
L(115/16;(13/16) SLOTS
@
3 3
A-A
L4X4X5he x 6
2 c11
2 c14
Qty. In Assembly
4 a8 L4X4X5/16 0-6" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZ WW.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
ARCHITECTPLEASANT MOUNT WELDING, INC. DAE[iTCR;FEEN DATOEG/03/2009 JOBN°17_052_9
ENTECH ENGINEERING, INC. " TMAC R




1%

1%s6

1% A
A-A
A
L4X3X5% g x 31
I
2 c18
2 c19
Qty. In Assembly
4 a9 LAX3X5/16 0-31/8" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .

LITITZ WW.T.P. A S P Services Inc
LOCATION .

WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
____PLEASANT MOUNT WELDING, INC. e o oaro0s | 170520

ENTECH ENGINEERING, INC. e T Ao




4'-1345

\w 13460 GA 216

235 45
3-11% 11146
(O
10/22/09 A For Approval w/ Customer Field Data TMAC
6/04/09 For Approval TMAG
5/12/09 | /a\ | For Approval TMAC
ON E - BEAM - B6 10/30/09 | /o | For Fabrication w/ Approver Comments MT
DATE NO. DESCRIPTION BY
STEELASTM  A992 UNo | PROJECT NAME
LITITZ WW.T.P. .
BILL OF MATERIAL ELECTRODES E70xx LH UNO [ 5CATION A S P SerV|CeS InC
oy oy | b e - — WELDS 1/4 BUTT/EILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
ty | Qly | Piece Description Length eight Remarks v tee CONTRACTOR (570) 374-5333 FAX (570) 374-5335  aspservicesinc.com
Ea.|Tot | Mark Total Mill# |  Grad 13/16" :
S e o8 ' 108 | OPENHOLES o PLEASANT MOUNT WELDING, INC. 108 o
1 B6 BEAM BOLTS 3/4"@ A325-N-ST UNO [ ARCHITECT DESCRIPTION 10/21/2009 17-052-9
1] 1 W8X18 41 3/16" 73| Q2 A992 | pamt PER SPECS o ENTECH ENGINEERING, INC. BEAM ASS'Y PR NMAc 17 BB




23k | 45 3-41 1136
13460 GA 21K 1346@ GA 21K
W8X18 x 4'-13h6
1 B6
Qty. In Assembly
1 B6 W8X18 4-13/16" A992
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZ WW.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
ARCHITECTF’LEASANT MOUNT WELDING, INC. E;ECAR’"F\’;ON DAT1E0/21/2009 JOB”°17_052_9
ENTECH ENGINEERING, INC. " TMAC ™" Be




‘ 7'-53) 71
~ ~
o) (32)
N N
N — - L | PR PR JE— J— 7N g PR J - - Pl |
® N ;%T ************* 0 - - - - - - - - - - - - -~ T - T T T T T T ST ] D Eé‘r* ﬁ
= f f f f =
o (32)
N N
B-B
N
S o 3 o
~ o ® o
o| 4% 253 E\J 2-10% o 2-31 R
B B
$ a6 (F/S), %7 T
p5 (N/S) 3-p5 (N/S) A A N 5
% ‘ =2 N e @ p
N \ — \ N —
| \ ~ u— = Iz
fi7axy
; ol & & & T )
Py 0 0 0 < & < 28
N\ e & ey
I o I o
/
/ A A \ A-A
/ I 3
16
a5 (FIS) — S a5 (N/s) ol |
- a6 (N/S S
5 (N/s) a2
16'-0 (W8X31 x 15'-11")
10/22/09 A For Approval w/Customer Field Data TMAC
6/04/09 For Approval TMAQ
BILL OF MATERIAL 5/12/09 /| For Approval TMAQC
10/30/09 A For Fabrication w/ Approver Comments MT
t Piece ot Weight Adv Steel
Q| Qty Piece Description Length Tl Remarks il | Crege — _ DATE | NO. DESCRIPTION BY
1 B7 | BEAM STEELASTM_ A992 uno LITITZ W.W.T.P. .
11 w8x31 15-11" 494| 502 pogy |- oecTRones ETDoLA O [ ocation AS P Services Inc
WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
2| 2 ab L4X4X5/16 0'-5 1/2" 7 A36 oPEN HOLES  13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
. ; PLEASANT MOUNT WELDING, INC. DATE JOB No.
2| 2| ab L4X4X5/16 0-51/2 7 A36 BOLTS 3/4"G A325-N-ST UNO [crree DESCRIPTION ' 10/21/2009 17-052-9
4| 4| p5 | PL3/8"X33/8" 0-4 1/2" 6 A6 | pan PER SPECS uno ENTECH ENGINEERING, INC. BEAM ASS'Y ORAVN DRGNe- g7




2 15'-7

l— 13/16®

1360 —
o™
f?:o
13460
753 7-10
\ \
W8X31 x 15'-11
\ - . —
e e e e
‘ L . —
1 B7
Qty. In Assembly
1 B7 W8X31 15-11" A992
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIFTION M i0s | 70529
ARCHITECT B EAM DRAWN BY DRG No.
ENTECH ENGINEERING, INC. TMAC B7




21, 4 21,
~
= 134162
o
F o
~ i
FL34X8 1 x 10
1 Cl4
Qty. In Assembly
1 BP3 FL3/4"X8 1/2" 0-10" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co

PLEASANT MOUNT WELDING, INC.

ARCHITECT

ENTECH ENGINEERING, INC.

DESCRIPTION

PLATE

DATE

11/02/2009

JOB No.

17-052-9

DRAWN BY

TMAC

DRG No.

BP3




(-65h16) 3'-0Y% (MC6X12 x 2'-113k) (-7%s6)
RD
ald
116 2'-97g
g e _£7918 |
i — T
™ \
\ ©
\
e N
a8
10/22/09 A For Approval w/Customer FieldData TMAC
2 - BEAMS - C11 6/04/09 For Approval TMAC
5/12/09 | /A | For Approval TMAQ
10/30/09 A For Fabrication w/ Approver Comments MT
DATE NO. DESCRIPTION BY
BILL OF MATER IAL STEEL ASTM  A992 UNo | PROJECT NAME LITITZW.W.T.P
Qty | Qty | Piece Description Length Weight Remarks Adv Steel ELECTRODES E70xx LH UNO '/ ocATION A S P SerVICeS InC
Ea.| Tot | Mark Total Mil# | Grade | L BUTTFILET | uvo WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
2 Cl1 BEAMS oPEN HoLEs 13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
) , PLEASANT MOUNT WELDING, INC. DATE 308 No.
2| 2 MC6X12 2'-113/8 71| SQ2 A36 BOLTS 3/4"G A325-N-ST UNO [crree DESCRIPTION 11/02/2009 *17-052-9
1| 2| a8 | L4X4X5/16 0-6" 8 A6 | pan PER SPECS uno ENTECH ENGINEERING, INC. CHANNEL ASS'Y S ko3 K |




11 2'-83 11
™
MC6X12 x 2'-1138
2 Cl1
Qty. In Assembly
2 C11 MC6X12 2-113/8" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT STANDARD OS2008 106
ENTECH ENGINEERING, INC. TMAC Cc11




GRID LOCATION

BOTTOM ELEVATION

3>/E> 354'-9"3/4
23k
—
als5 21,
e :% %ﬁj
L 0 1 8
il i i
' \
| %
n
- F
N
| RD 2 2
1546 4'-91) 9'-51 —
~ a8
L= = 15/ 6x13 /
. ‘: o (11546x1346) SLOTS 33
"l
o 0
Il B-B
EL354'-934 s (R
7 1Yhg| | |1%he 6
51, 13,
o~ 21
A ~ F— 1% BP3
(a16 ) ( ) B (al5) B 6
9/16 C < 5 5
C = C Ef' [32) i: ~ N
i x | : ¢
A} t < . o~
. . . AN
: B S i S F L A LA e
N Lr) ©77§ = =
! ] A : T
N
WLF % |
w C Al
RD a4
1571? 4-91), 951, 141 33
A-A
Qty | Qty | Piece o Weight Adv Steel
Ea.|Tot| Mark Description Length Total Remarks Mil# |  Grade 10/22/09 | /&\ | For Approval w/Customer Field Data TMAC
1| C14 | COLUMN 6/04/09 For Approval TMAG
— 5/12/09 | /a\ | For Approval TMAQ
111 W8x15 14-1 213|  SQ-UBEV-L A992 10/30/09 | /o | For Fabrication w/ Approver Comments MT
1| 1| BP3 | FL3/4"X8 1/2" 0-10" 18 A36 DATE | NO. DESCRIPTION BY
STEEL ASTM  A992 UNO PROJECT NAME
1| 1| a4 | L4X4X5/16 0'-6" 4 A36 LITITZ WW.T.P. .
5 5 8 L AXaX5/16 06" 3 A36 ELECTRODES E70xx LH UNO [ 6cATION A S P SerV|CeS InC
WELDS 1/4 BUTT/EILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
21 2| alb L4X4X5/16 0'-4" 5 A36 oPENHOLES  13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
. PLEASANT MOUNT WELDING, INC. DATE JOB No.
1| 1| al6é | L4X4X5/16 0-4 3 A36 BOLTS 3/4"G A325-N-ST UNO [ DESCRIPTION ' DRi\?V/,\‘Zg,zoog - 17-052-9
1) 1| p6 | FL3/8"X4 1/4" 0-9 1/4" 4 A36 | pamt PER SPECS UNO ENTECH ENGINEERING, INC. COLUMN ASS'Y ™ > Cl14




GRID LOCATION

BOTTOM ELEVATION

3>/E> 354'-9"3/4
23k
—
als %
0 | | 1
T T T 1 5
- I —J— .
' \
| =3
n
- 2
2D 2 ;
e 491, 951 1
7 a8
= 154 6x13 /
. ‘: o (11546x1346) SLOTS 33
d 515 13,
e pa)s B-B Al BP3
.93,
EL354'-9) 1Y% 116 6
[/ < =
21 35 . N
A o = 3 : -
A L) ~
al6 (al5) B B 6 F R LA Q
%e C C- N -
l 7 X % \
& A ' A
B —$ - - - - r . - - & © a4
aro o)
il ey < 3|3
TP ® N
‘ H H C
|RD A-A
1;/er 4'-91, B 9'-51) B 14-1
A
Qty | Qty | Piece Description Length Weight Remarks Adv Steel
Fa Tou. Mark Toal Mil # Grade 10/22/09 | /o\ | For Approval w/Customer Field Data TMAQ
1| Cl4 | COLUMN 6/04/09 For Approval TMAG
1] 1 W8X15 14-1" 213| SQ-BEV-L A992 5/12/09 | /a\ | For Approval TMAG
. . o 11/11/09 | /2\ | For Fabrication w/ Shop Changes MT
1) 1) BPS | FL3/4™XB 112 0-10 18 A36 10/30/09 | /o | For Fabrication w/ Approver Comments MT
11 1 a4 L4X4X5/16 0'-6" 4 A36 DATE NO. DESCRIPTION BY
STEEL ASTM  A992 UNO PROJECT NAME
2| 2| a8 | L4X4X5/16 0'-6" 8 A36 LITITZ WW.T.P. .
2| 2| al5 | L4AX4X5/16 0-4" 5 pgp | oormenes ETOuLH O [ ocation AS P Services Inc
WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1| 1| alé L6X4X5/16 0'-4" 3 A36 oPENHOLES  13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
. " . . PLEASANT MOUNT WELDING, INC. DATE JOB No.
11 1 p6 FL3/8"X4 1/4 0'-9 1/4 4 A36 BOLTS 384G A325-N-ST uno Fmgrrecr DESCRIPTION ' DRi\?V/,\‘Z;{,ZOOQ - 17-052-9
2| 2 3/4"@ A325N BOLT 0-13/4" 1 PAINT PER SPECS uno ENTECH ENGINEERING, INC. COLUMN ASS'Y ™ * Cl14




%6

W8X15 x 14'-1
S
s
1 C14
Qty. In Assembly
1 C14 W8X15 14-1" A992
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIFTION M i0s | 70529
ARCHITECT CO LU M N DRAWN BY DRG No.
ENTECH ENGINEERING, INC. TMAC C14




%6

2154, 215
™
N
T
W8X15 x 14"1 i
1
1 Ci14
Qty. In Assembly
1 Cl14 WB8X15 14-1" ‘ A992
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZ W.W.T.P. A S P Services Inc

LOCATION

WARWICK TWP.-LANCASTER CO., PA

CUSTOMER

PLEASANT MOUNT WELDING, INC.

Selinsgrove, PA 17870

(570) 374-5333 FAX (570) 374-5335 aspservicesinc.co

ARCHITECT

ENTECH ENGINEERING, INC.

DESCRIPTION

COLUMN

DATE

10/21/2009

JOB No.

17-052-9

DRAWN BY

TMAC

DRG No.
C14




GRID LOCATION

BOTTOM ELEVATION

3>/E> 364'-5"1/16
11146
3 e
0 ™
N~
Y- - - - - - - - . . _ ¢ - - . . _ - - - . o o _ ] ]
1146 L
RD
2 2'-31%¢ 4-7%¢ | 4the
L€ e b
(-1546) MC6X12 x 5'-15g (-13h6)
10/22/09 | /o\ | For Approval w/Customer Field Data TMAGC
ON E - BEAM - C15 10/30/09 | /o | For Fabrication w/ Approver Comments MT
DATE NO. DESCRIPTION BY
STEEL ASTM  A992 UNO PROJECT NAME
LITITZWW.T.P. .
BILL OF MATERIAL ELECTRODES E70xx LH UNO [ 5CATION A S P SerV|CeS InC
Sy Ton P = s WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
ty | Qly | Piece Description v tee CONTRACTOR (570) 374-5333 FAX (570) 374-5335  aspservicesinc.com
Ea.|T Mark Mill # Grad " :
A ToL el ' B oPenwoLes 1316 uno PLEASANT MOUNT WELDING, INC. o8 .
1] C15 | BEAM BOLTS 3/4"@ A325-N-ST UNO [ ARCHITECT DESCRIPTION 10/22/2009 17-052-9
1 1 MC6X12 A6 | pant PER SPECS uno ENTECH ENGINEERING, INC. CHANNEL ASS'Y RN TN C15




1116
— 13450 1346@ 13460 13460
/ L,
= ™
‘::::::::::::::::::::::::::::::
2 211546 2'-35g 416 2
111/16
MC6X12 x 5'-15g
1 C15
Qty. In Assembly
1 C15 MC6X12 5-15/8" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL OS2008 e
ENTECH ENGINEERING, INC. TMAC C15




GRID LOCATION

BOTTOM ELEVATION

3>/E> 364'-5"1/16
1116
] = = = = = = = = = = = == = = = = = = = = = = = = -
@0
~
N j 777777777777777777777777777 — ]
Y
N~
1146 L
RD
2 2'-3154¢ 4'-7%¢ |46
<] i
(-15h6) MC6X12 x 5'-15 (-13h6)
10/22/09 | /o\ | For Approval w/Customer Field Data TMAGC
ON E - BEAM - C16 10/30/09 | /o | For Fabrication w/ Approver Comments MT
DATE NO. DESCRIPTION BY
STEELASTM  A992 UNo | PROJECT NAME
LITITZ WW.T.P. .
BILL OF MATERIAL ELECTRODES E70xx LH UNO [ 5CATION A S P SerV|CeS InC
ST = o WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
ty |Qty | Piece Description \av tee CONTRACTOR (570) 374-5333  FAX (570) 374-5335 aspservicesinc.com
Ea.|T Mark Mill # Grad g :
B Lo Mar ' B oPenwoLes 1316 uno PLEASANT MOUNT WELDING, INC. OB .
1| C16 | BEAM BOLTS 3/4"@ A325-N-ST UNO [ ARCHITECT DESCRIPTION 10/22/2009 17-052-9
1 1 MC6X12 A6 | pant PER SPECS uno ENTECH ENGINEERING, INC. CHANNEL ASS'Y RN TN C16




1146 13460

13462 13h6@

E - - - - — — — - _—_C - - . - — — — —C —
@ / f o
‘_ ________________________ _ o _ ] _
2 2'-1154g 2'-35g 4146 2
11146
MC6X12 x 5'-15
1 C16
Qty. In Assembly
1 C16 MC6X12 5-15/8" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL OS2008 06
ENTECH ENGINEERING, INC. TMAC C16




>
9413} ‘
>

el
—
A
RD 7-41% ~ 2'-0%6
MC6X12 x 10'-7
=
P8
o
\gﬁ@
[32)
[90]
T
4
e
A-A

ONE = CHANNEL - C17 10/22/09 | o\

For Approval w/Customer Field Data TMAC
10/30/09 A For Fabrication w/ Approver Comments MT
DATE NO. DESCRIPTION BY
BILL OF MATERIAL STEELASTM  A992 UNo | PROJECT NAME
LITITZ WW.T.P. .
Qty | Qty | Piece Description Length Weight Remarks Adv Steel ELECTRODES E70xx LH UNO '/ ocATION A S P SerVICeS InC
Ea.|Tot | Mark P 9 Total Mill# | Grade | . oo 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1| C17 | CHANNEL oPEN HoLEs 13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
- PLEASANT MOUNT WELDING, INC. OB No.
11 MC6X12 10-7 127| 502 A6 D ASZONST v o DESCRIPTION o000 |0 17-052-9
2| 2| p8 | FL3/8"X3" 0-4 15/16" 3 A6 | pan PER SPECS uno ENTECH ENGINEERING, INC. CHANNEL ASS'Y N ok Iy ¢




MC6X12 x 10'-7

1 c17
Qty. In Assembly
1 C17 MC6X12 10-7" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL OS2008 O
ENTECH ENGINEERING, INC. TMAC c17




— \ \
2-a9
GOL 11h(F/S) S - @
5@ 1-11%
(-1he) 1111346 (MC6X12 x 1'-113h6) (-The)
O N E - B EAM - C 18 10/22/09 | /o\ | For Approval w/Customer Field Data TMAC
10/30/09 A For Fabrication w/ Approver Comments MT
DATE NO. DESCRIPTION BY
BILL OF MATERIAL STEEL ASTM  A992 UNo | PROJECT NAME LITITZ W.W.T.P.

LOCATION

WARWICK TWP.-LANCASTER CO., PA

CONTRACTOR

PLEASANT MOUNT WELDING, INC.

A S P Services Inc
Selinsgrove, PA 17870
(570) 374-5333 FAX (570) 374-5335 aspservicesinc.com

Piece Weight Adv Steel ELECTRODES E70xx LH UNO
Mark Length Tota Mill# | Grad
ar otal ! rade WELDS 1/4 BUTT/FILLET UNO
cis BEAM OPENHOLES 13/16" UNO
1 MC6X12 1'-11 3/16" 23| SQ2 A36 BOLTS 3/4°% A325-N-ST NG
2 a9 L4X3X5/16 0'-3 1/8" 4 A36 PAINT PER SPECS UNO

ARCHITECT

ENTECH ENGINEERING, INC.

JOB No.

17-052-9
C18

DATE

10/22/2009

DRAWN BY DRG No.
TMA!

DESCRIPTION

CHANNEL ASS'Y




MC6X12 x 1-113h6

1 c18
Qty. In Assembly
1 c18 MC6X12 1'-11 3/16" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL OS2008 106
ENTECH ENGINEERING, INC. TMAC C18




2-a9 —\
GOL 11(FIS)
o \ :;Z‘ -
&
[T}
S&RD
ﬂe

(-Yh6) :!_‘-1113/15 (MC6X12 x 1"113/161 (-Yhe)
1 1

ONE - BEAM - C19

10/22/09 | /o\ | For Approval w/Customer Field Data TMAC
10/30/09 A For Fabrication w/ Approver Comments MT
DATE NO. DESCRIPTION BY

BILL OF MATERIAL

STEEL ASTM  A992

UNO

Piece

ELECTRODES E70xx LH

PROJECT NAME

LITITZW.W.T.P.

- Adv | Steel A S P Services Inc

ece Description Length Remarks vilh | cme |, taporimier  mol o WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870

Clo9 | BEAM oPENTOLES 13/16" Uno | CONTRACTOR (570) 374-5333  FAX (570) 374-5335  aspservicesinc.com
. A 111 316" SQ2 A6 BOLTS 3/4"@ A325-N-ST UNO [ ARcHITECT PLEASANT MOUNT WELDING, INC. DESCRIPTION DAII(E)/ZZ/ZOOQ o8 N0'17-052-9
2 a9 | L4X3X5/16 0-31/8" A6 | pan PER SPECS uno ENTECH ENGINEERING, INC. CHANNEL ASS'Y R A PReNe 519




MC6X12 x 1-113h6

1 C19
Qty. In Assembly
1 C19 MC6X12 1'-11 3/16" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL OS2008 06
ENTECH ENGINEERING, INC. TMAC C19




a7 ¥ 3-2155(C6X13)

(13h6x13h6) SLOTS \

51
)

alo

313/16
Q0
~
. —
L
— =
— N
\8
RD 5
2 2-117he )
\
10/22/09 A For Approval w/Customer Field Data TMAC
6/04/09 For Approval TMAQ
BILL OF MATERIAL 5/12/09 A For Approval TMAC
. : 10/30/09 A For Fabrication w/ Approver Comments MT
Q| Qty Piece Description Length Vyr%'gl“ Remarks ,\’;ﬁ‘; g:‘;gé DATE | NO. DESCRIPTION BY
4 ca | BEAMS STEELASTM_A992 wo| "EE L Ttz WL TP
4| 4 C6X13 3-215/16" 168| $Q2 A36 ELECTRODES ETOXXLA YO [ocation AS P Services Inc
WELDS 1/4 BUTT/EILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1| 4| a7 L4X4X5/16 0'-2 1/2" 7 A36 OPEN HOLES  13/16" UNG | CONTRACTOR s 0 G c (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
. ; PLEASANT MOUNT WELDING, INC. DATE JOB No.
1| 4| al0 | L4X4X5/16 0-2 1/2 7 A36 BOLTS 3/4"G A325-N-ST UNO [crree DESCRIPTION 10/21/2009 17-052-9
1] 4 3/4"@ A325N BOLT 0-2 1/4" 2 PANT PER SPECS UNO ENTECH ENGINEERING, INC. CHANNEL ASS'Y PRANEM rete g




1% 2-117he
’:@ — - - - - - T oo oo Tz =Z =—ZT =« =« =osmosmo ]
— ™
F
N
3
313/16
C6X13 x 3'-2154
4 C4
Qty. In Assembly
4 C4 C6X13 3-215/16" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL aORLR008 06
ENTECH ENGINEERING, INC. TMAC c4




EL354-113

fffffffffffffffffffffffffffffffffffffffffffffffffffffffffff —
S !
RD
11 10-1% 1%
al4d
MC6X12 ~ C5
S I EE—— L Ei———————————————————————————.—————.——————a————————————————m8m8sss—m—m—mm—m—mma_—m—m———m8m————— —
3 ! ) < .
& = - o
® e J ~ >
13
h
13}
(
10"-33)
ONE - BEAM - C5 1012209 | /2| For Approval w/Customer FieldData TMAC
6/04/09 For Approval TMAQ
5/12/09 | /A | For Approval TMAQ
10/30/09 | /o\ | For Fabrication w/ Approver Comments MT
BILL OF MATERIAL DATE | NO. DESCRIPTION BY
Qty|Qty| Piece Descripti Lenath Weight R K Adv Steel STEELASTM  A992 uUNo | PROJECT NAME LITITZ WW.T.P
Ea.|Tot | Mark escription engt Total emarks Mill # Grade e H
1 cs BEAM ELECTRODES E70xx LH UNO [ 5CATION A S P SerV|CeS InC
WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1 1 MC6X12 10"-3" 123| Q2 A36 e oLee 13/16" o | CONTRACTOR (570) 374-5333  FAX (570) 374-5335  aspservicesinc.com
. PLEASANT MOUNT WELDING, INC. DATE 0B No.
1| 1| ald | L4X4X5/16 0-4 3 A36 coLTe v TSP p— DESCRIPTION | DRiVlV/I\?;/(zoog - 17-052-9
1] 1 3/4"@ A325N BOLT 0-1 3/4" 1 PANT PER SPECS uno ENTECH ENGINEERING, INC. CHANNEL ASS'Y TMAC “C5




1%

1% 10'-0
O B ;_;3
< } # <
13460 4ﬁ 13160
13 13}
MC6X12 x 10'-3
1 c5
Qty. In Assembly
1 C5 MC6X12 10-3" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL e
ENTECH ENGINEERING, INC. cs




EL359'-101

J@@

10-1% 1%
ey
al4
\
©. ©
(= - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - — — — — ] =~
ok ﬁf. v ‘ < ok
5 ~ L — o
™ N - el ] o ®
13160 1%
)‘%
10-33 77k
BILL OF MATERIAL DATE | NO.] DESCRIPTION BY
Qty [Qty | Piece D - L h Weight R K Adv Steel STEELASTM  A992 UNo | PROJECTNAME LITITZZW.W.T.P
Ea.|Tot | Mark escription engt Total emarks Mill # Grade o 1
1 c6 BEAM ELECTRODES E70xx LH UNO [ 5CATION A S P SerV|CeS InC
WELDS 14 BUTT/FILLET  uno WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1)1 MC6X12 10-3" 123| SQ2 A36 13/16" UNG | CONTRACTOR (570) 374-5333 FAX (570) 374-5335  aspservicesinc.com
1l 1l a2 | Laxaxsiie 0" 3 A3 OPENFOLES PLEASANT MOUNT WELDING, INC. esemPTION DATE 8N4 5 955 g
BOLTS 3/4"@ A325-N-ST UNO [ ARCHITECT | DRivlv/r\?z\// 2009 S - -
1] 1 3/4"@ A325N BOLT 0-13/4" 1 PANT  PER SPECS oo ENTECH ENGINEERING, INC. CHANNEL ASS'Y ™ ”C6




1%

1% 10'-0
O B ;_;3
< } # <
13460 4ﬁ 13160
13 13}
MC6X12 x 10'-3
1 C6
Qty. In Assembly
1 C6 MC6X12 10-3" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LITITZZW.W.T.P. A S P Services Inc
LOCATION .
WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870 o
CUSTOMER (570) 374-5333 FAX (570) 374-5335 aspservicesinc.co
PLEASANT MOUNT WELDING, INC. DESCRIPTION DATE 0B No
ARCHITEGT CHANNEL e
ENTECH ENGINEERING, INC. c6




9434 ‘ 10'-3
&
P
3 i
« T | ©
o (V)J iz I e
e | Y B 15}
> I
e
e
(13h6x17he) SLOTS —
RD
1% 10-115 1%
f—f ——=F
al4d
13/16®
MC6X12 ~C7
) - = 9
= =
S « © ” . > Y o
roy 0 — o)
> o] - el J_| ~ ™
134 13,
1 1
10'-33
10/22/09 A For Approval w/Customer FieldData TMAC
6/04/09 For Approval TMAQ
BILL OF MATERIAL 5/12/09 /| For Approval TMAQC
10/30/09 A For Fabrication w/ Approver Comments MT
Qty |Qty | Piece g Weight Adv Steel .
Ea.|Tot | Mark Description Length Total Remarks Mill # Grade PROJECT NAME DATE NO DESCRIPTION BY
1 C7 | BEAM STEELASTM_ A992 uno LITITZ W.W.T.P. :
1 1 MCEX12 10-3" 123 502 736 ELECTRODES E70xx LH UNO [ 5CATION A S P SerV|CeS InC
WELDS 1/4 BUTT/FILLET UNO WARWICK TWP.-LANCASTER CO., PA Selinsgrove, PA 17870
1) 1| al4 L4X4X5/16 0'-4" 3 A36 oPEN HOLES  13/16" UNG | CONTRACTOR PLEASANT MOUNT WELDING. INC (570) 374-5333 FAX (570) 374-5335 aspservicesinc.com
" " ' " y . Ol .
2| 2| p7 | FL3/8"X3 0-4 1/2 3 A6 [ D ASZONST v o DESCRIPTION 2032000 |0 17-052-9
1 3/4"0 A325N BOLT 0-13/4" L PAINT PER SPECS uNo ENTECH ENGINEERING, INC. CHANNEL ASS'Y DRAWM DRGNo- ~7




1%

1% 10-0
% — L - - - - - - - - - - - - - - - - - ———————t&=——
< * <
1360 — 13160
13, 134
MC6X12 x 10'-3
1 c7
Qty. In Assembly
1 Cc7 MC6X12 10-3" A36
Qty. Mark Size Length Comments Grade
PROJECT NAME .
LIT